Pik = 0+000,00
Skalo 1:100/200
Nr PP =1

PP. = 133,00

0,0

23l

TS50
S35 n=

Prosta , pik =0,00 (0,004 z 75,91

RZEDNE PROJ

RZEDNE KONS

11553 |

135,06

11473 1108 4

RZEDNE TEREN Z e 2 =
ODLEGEOSCI = = ==
Pik = 04037,00 &
Skala. 1100/200 — ===
N PP = 2

PP. = 192,00

Prosta , pik =37,00 (46,30%)

RZEDNE PROJ

15448

141
1044

154,48

RZEDNE KONS. = 2 3z

RZEDNE TEREN S = 3

ODLEGEOSCI 2 5558 s= m==s
Pik = 0+070,04 T= 15348
Skalo. 11007200 = 3 A =
Nr PP = 3 i j

PP. = 158'00 Prosta , pik =70,04 (87,657:) z 79,91 .

RZEDNE PROJ. S 2

RZEDNE KINS. 3

RZEDNE TEREN 5 5

MDLEGYOSCI 5 = 2 =




